The Third Question : Maths =lawadll) Jad Glal ALY 2l ) canall

e Choose the correct answer : e s O T dll ol ) Jeadl
1. The value of the digit 8 in the number 832562 is ....... du ol Ll o S oY gt
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4. One milliard is the smallest number formed from ....... digits . ( Al — (bl — il — (s ): " Q) 1 3 4 -
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7. L.. C. M for numbers 7 and 3 is ....... (21, 24, 28, 30)

The Fourth Question : Science
e (Choose the correct answer :

| PR is a bad heat conductor. (Bromine, Lead, Iron, Copper) r # #

2. The Earth's axisis ....... (vertical, horizontal, inclined, planet) ( J.a Ui ; ij\_— 51:,0 —) ad: Zﬁf‘&fﬁ Jﬂ::-g:i ‘Jng ::

3. Oxygen is example for ....... state.  (liquid, solid, gaseous, all) (;{_..:,_;3\ — Ol — gl — Aaal ) = &ﬁy A palia | gealia ) salzall Y

4. Matter existsin ....... state in room temperature. b PERE SRR RE 0 Rt R B R
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The Fifth Question : English + O o8l s daoaall Alayt it
e Choose the correct answer: VL A QA g Jadd) Gu adi Al Agadl -

1 o....... you want vegetables ? (What — Do — Does — Are) (Rl Jladdl — u—uﬂ\ il (Al Jladdl — G siadt)

2. Mona ....... a red jacket . (have — is — has — doesn't) | e, 58 asadlf allaldf <l J8 e -

3. I'm looking ....... my wallet . (in — on — for — up) (S D) = uU‘“‘“‘ — Adlal) 1< jal)

4. Let's ....... to the zoo . (goes — go — going — gone) ; B :T'*"'ej‘ ko -Y

5. A:whereisthecereal? B: It'sin ....... 3. (G = ¥l — jpail — pauil)

............... (4 dDla agdlll (o paall adiia
(address — ticket — map — aisle) (gl — ul-iﬂ\ — ohaill — _ jalh)
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The Third estion : Maths

e Choose the correct answer :

1. The closest number to the number 100000 1is .......
( 100100, 100101, 100009, 99900)

2. (358)is divisible by .......
3. The measure of right angle = ...... ( 45

(3,2,5,6)
",99,90,180 )
4. If a square has perimeter = 8 cm, then its side length = ....... cm .

(2,4,64, 32)
5. (9) has........ factors.
6. Two perpendicular straight lines form .... right angles. (2,3,4,5)
7. H. C. F for numbers 8 and 12 is ....... (8,12, 4, 2)

(4,3,2,5)

The Fourth Question : Science

e Choose the correct answer :
1. In..... night is longer than day. (summer, winter, spring, autumn)
2. ........ has definite shape and volume. (solid, liquid, gas, air)
3. Moons revolve around ....... (stars, asteroids, planets, galaxies)
4. The melting point of ....... element is high.

(carbon, silver, sulphur, phosphorus)

The Fifth
e Choose the correct answer :

estion ; Enelish

1. Acanaryisa....... (sea — bird — fish — plant)
2. Samy ....... to school by bike (g0 — going — goes — to go)
3. There's a boat in the ....... (cake — bake — lake — snake)
4. Thank vou ....... your help. (of — for — to — on)
5. How ....... he go to work ? (do — does — are —1s)
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The Third Question : Maths

e Choose the correct answer :
1. ....... is divisible by 3 (112, 28, 222, 131)
2. 452013 +439815=...... (851828, 891628, 891828, 891826 )
3. Angle with measure 110 is ....... ( acute , right, obtuse, straight)
4. .......1is a prime number. (15, 16, 17, 18)

5. A rectangle whose area = 15 cm? and its length = 5 cm. Then its

width = ...... cm. (10,3,75,20)
(4,5,6,7)

1. If the L.C.M for two numbers = 20, then the numbers are .......
(2 and 5,3 and 5,4 and 5, 6 and 5 )

6. The number of sides of a hexagon = .......

The Fourth Question : Science

e Choose the correct answer :
1. Volume of a solid material is measured in....... (cm, m, cm?, cm?)
2. ......1sused to make thermometer. (iron, water, mercury, carbon)

3. The red planetis ........ (Mercury, Earth, Venus, Mars)

4. Changing of matter from gaseous state to liquid state is ....... .

(freezing, condensation, evaporation, melting)

The Fifth Question : English

o Choose the correct answer :
1. Thisis AlL. ...... leg hurts. (Your — He — His — Him)
2. Sama helps her mother to clean ....... (of —at—In —up)
3. Heis ....... videos. (watch — watches — watching — watched)
4. 1....... want a puppy. (don't — doesn't —is — am)
5. Do you want a single or ...... ticket? (two — double — return — bus)
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